BASE BID			INIT PRICES		COMPENSABLE DELAY			TOTAL PROJECT COST	
			_						TOTAL - Base Bid w/unit
			Unit			Compensable		Total	prices & Compensable
General Contractor	Base Bid	Unit Price	Quantity	Description	Total Unit Price		Davs	Compensable	
AB Electric Systems Inc.			,	·		,	.,		
13351 -D Riverside Dr. #450							5		
Sherman Oaks, CA 91423	NO BID SUBMITTED								
T: 818/578-6621 FAX: 818/578-6766									
Subcontractors									
Barr West Electric									
4464 McGrath Street, Ste 106	\$1,400.00	\$34.29	3	EACH	\$102.87	\$500.00	5	\$2,500.00	\$109,326.85
Ventura, CA 93003	<b>\$1,100.00</b>	\$105.00	12	EACH	\$1,260.00	φοσοίσο		ΨΞ,000.00	ψ.ου,ο2ο.ου
Tomara, or coooc		\$125.28	651	EACH	\$81,557.28				
T: 805/676-1029 FAX: 805/676-1057		\$66.99	3	EACH	\$200.97				
Subcontractors		\$89.34	4	EACH	\$357.36				
None		\$66.68	1	EACH	\$66.68				
		\$102.25	9	EACH	\$920.25				
		\$124.99	132	EACH	\$16,498.68				
		\$143.96	31	EACH	\$4,462.76				
Blum and Sons Electric									
606 Linden Avenue							5		
Carpinteria, CA 93013	NO BID SUBMITTED								
T: 805/684-1010 FAX: 805/684-2260									
Subcontractors									
Brannon Inc., DBA Smith Electric Srv.									
1340 Betteravia Road							5		
Santa Maria, CA 93455	NO BID SUBMITTED						1		
T: 805/621-5000 FAX: 805/621-5050	13 212 232								
Subcontractors									

BASE BID			INIT PRICES		COMPENSABLE DELAY			TOTAL PROJECT COST	
-									TOTAL - Base Bid w/unit
			Unit			Compensable		Total	prices & Compensable
General Contractor	Base Bid	Unit Price	Quantity	Description	Total Unit Price	Delay	Days	Compensable	Delays
Electricraft Inc.									
205 South Street	\$108,188.00	\$12.23	3	EACH	\$36.69	\$0.00	5	\$0.00	\$223,047.59
San Luis Obispo, CA 93401		\$115.50	12	EACH	\$1,386.00				
		\$135.70	651	EACH	\$88,340.70				
T: 805/544-8224 FAX: 805/544-0208		\$70.83	3	EACH	\$212.49				
Subcontractors		\$112.68	4	EACH	\$450.72				
None		\$90.92	1	EACH	\$90.92				
		\$157.71	9	EACH	\$1,419.39				
		\$142.14	132	EACH	\$18,762.48				
		\$134.20	31	EACH	\$4,160.20				
Ferrari Development, Inc.									
1350 Primavera Lane							5		
Nipomo, CA 93444	NO BID SUBMITTED								
T: 805/929-1204 FAX: 805/929-3814									
Subcontractors									
Fluoresco Lighting and Signs									
2778 Pomona Blvd.	P74 C04 00	\$22.18	2	EACH	\$66.54	\$3,500.00	5	£47.500.00	\$166,771.57
	\$74,634.92		3 12	EACH	\$966.24	\$3,500.00	5	\$17,500.00	
Pomona, CA 91768		\$80.52 \$86.33	651	EACH	\$966.24 \$56,200.83				Bid Rejected
T: 909/592-0870 FAX: 909/592-0493				EACH	\$56,200.83 \$146.07				Non-Responsive
		\$48.69	3	EACH					
Subcontractors		\$78.00 \$55.90	4	EACH	\$312.00 \$55.90				
None		\$87.87	9	EACH	\$55.90 \$790.83				
			132	EACH					
		\$96.79			\$12,776.28				
		\$107.16	31	EACH	\$3,321.96				
Immerial Floatsia									
Imperial Electric	NO DID OUDMITTED						_		
6445 Calle Real	NO BID SUBMITTED						5		
Goleta, CA 93117									
T: 805681-0676 FAX: 805/681-0703									
Subcontractors									

BASE BID			l	INIT PRICES		COMPENSABLE DELAY			TOTAL PROJECT COST	
									TOTAL - Base Bid w/unit	
			Unit			Compensable		Total	prices & Compensable	
General Contractor	Base Bid	Unit Price	Quantity	Description	Total Unit Price	Delay	Days	Compensable	Delays	
J. Kim Electric Inc.										
842 W. Las Palmas Dr.	\$5,500.00	\$40.00	3	EACH	\$120.00	\$500.00	5	\$2,500.00	\$87,626.70	
Fullerton, CA 92835	\$5,500.00	\$70.00	12	EACH	\$120.00	\$500.00	5	\$2,500.00	\$67,626.70	
T: 714/525-1855 FAX: 714/525-5815		\$96.40	651	EACH	\$62,756.40					
1. 714/525-1655 FAX. 714/525-5615 Subcontractors		\$55.00	3	EACH	\$165.00					
None		\$64.35	4	EACH	\$257.40					
None		\$62.80	1	EACH	\$62.80					
		\$76.05	9	EACH	\$684.45					
		\$87.40	132	EACH	\$11,536.80					
		\$103.35	31	EACH	\$3,203.85					
		ψ103.33	31	LACIT	ψ3,203.03					
Newton Construction & Management Inc.										
259 Higuera Street PO Box 3260 93403	\$1,500.00	\$25.00	3	EACH	\$75.00	\$0.00	5	\$0.00	\$119,387.00	
San Luis Obispo, CA 93401	ψ1,000.00	\$140.00	12	EACH	\$1,680.00	ψ0.00		ψ0.00	ψ110,001.00	
T: 805/544-5583 FAX: 805/544-5584		\$135.00	651	EACH	\$87,885.00					
Subcontractors		\$110.00	3	EACH	\$330.00					
None		\$125.00	4	EACH	\$500.00					
110110		\$113.00	1	EACH	\$113.00					
		\$136.00	9	EACH	\$1,224.00					
		\$160.00	132	EACH	\$21,120.00					
		\$160.00	31	EACH	\$4,960.00					
Pieroth Inc. dba Positive Energy										
200 N. Glendora Ave, Ste H	\$0.00	\$7.04	3	EACH	\$21.12	\$540.00	5	\$2,700.00	\$71,719.32	
Glendora, CA 91741		\$61.16	12	EACH	\$733.92					
T: 626/914-6848 FAX: 626/914-0128		\$83.74	651	EACH	\$54,514.74					
Subcontractors		\$43.46	3	EACH	\$130.38					
None		\$57.90	4	EACH	\$231.60					
		\$45.53	1	EACH	\$45.53					
		\$68.06	9	EACH	\$612.54					
		\$76.10	132	EACH	\$10,045.20					
		\$86.59	31	EACH	\$2,684.29					
Tota Electric Company										
Taft Electric Company	NO DID OURNITTED						-			
350 Alamo Pintado Road, Ste 200	NO BID SUBMITTED						5			
Solvang, CA 93463										
T: 805/688-0121 FAX: 805/688-0125										
Subcontractors										

BASE BID			U	NIT PRICES		COMPENSABLE DELAY			TOTAL PROJECT COST
General Contractor	Base Bid	Unit Price	Unit Quantity	Description	Total Unit Price	Compensable Delay		Total Compensable	TOTAL - Base Bid w/unit prices & Compensable Delays
Torres Construction									
7330 N. Figueroa Street	\$98,833.00	\$30.00	3	EACH	\$90.00	\$50.00	5	\$250.00	\$197,668.00
Los Angeles, CA 90041		\$95.50	12	EACH	\$1,146.00				
T: 323/257-7460 FAX: 323/257-8044		\$95.00	651	EACH	\$61,845.00				
Subcontractors		\$50.00	3	EACH	\$150.00				
None		\$95.50	4	EACH	\$382.00				
		\$50.00	1	EACH	\$50.00				
		\$95.00	9	EACH	\$855.00				
		\$209.00	132	EACH	\$27,588.00				
		\$209.00	31	EACH	\$6,479.00				
Unique Home Remodeling Inc.									
14349 Victory Blvd., #302	NO BID SUBMITTED						5		
Van Nuys, CA 91411									
T: 800/469-5780 FAX: 818/787-2265									
Subcontractors									
Vastola Electric									
815 Palermo Dr.	NO BID SUBMITTED						5		
Santa Barbara, CA 93105									
T: 805/563-6625 FAX: 805/687-3037									
Subcontractors									